6 TOL-O-MATIC, INC. Parts Sheet

3604-4107_01

Be |t-Te ns | on K|t ADJUSTING BELT TENSION USING

THE BELT TENSION KIT
PAS10, PAS15 ' To adjust belt tension using the belt tension kit, follow these instructions.

Adjustment Jam Pulley
Screw (#4) Nut Housing (#C)

X

Tensioning
Spring (#3)

Adjustment
Nut (#1)

)
Washer (#2)
Yoke (#D) Belt (#E)

1. Preparation
A.  Remove the protective cap (#A) from idler pulley housing (#C).
Note the idler pulley side of the actuator is on the opposite side
than the brake.
B.  Remove one cover from the side of the pulley housing. This
allows you to see what is going on better.
. . . o C. Loosen jam nuts (F) that are tightened against the Yoke (D).
NOTE: Kits include items 1-4 only. Parts are not sold individually. Back them off about 1/2" from the Yoke.They will be tightened
Grey items are not included in theses kits. later after proper belt tension has been achieved.
These products are on existing actuator.

2. Attach belt tension kit to pulley housing:

List of Parts S (v A.  Thread the adjusting nut (#1) onto the adjusting screw (#4).
2|2 Screw the nut on from the end of the adjusting screw that has
ltem Part No.  Description oo the flats on it. _
3410-9314 PASI10 Kit (items 1-4) X B. P(Ije_lce _washer (#2), spring (#3), and the other washer onto the
- adjusting screw.
3415-9322 PA_SlS Kit (items 1-4) X C. Insert the adjusting screw into the pulley housing, and thread
1. 0701-1059 Adjustment Nut 11 the adjusting screw into the tensioning yoke about 4 turns.
2. 0720-1007 Washer 2
2410-1135 Washer 2 3. Apply tension to the belt.
3. 3410-1092 Spring 1 A.  Tighten the adjustment nut (#1) up against the washer and
3415.2007 Spri 1 compress the spring against the other washer and the pulley
- prlng housing until dimension ‘X’ is achieved. You may need to use a
4. 3410-1091 Adjustment Screw 1 wrench to achieve the proper tension. Note: (Dim. ‘X is shown
3415-1774 Adjustment Screw 1 in the adjustment table below) The table is for actuators that
5.  2307-1007 Jam Nut 2 are shorter than 90" of stroke, and for longer than 90" of stroke.
2406-1027 Jam Nut 2 A longer stroke requires more belt tension due to belt stretch.
A. 3410-1750 Cap Plug 1 Model x Ve
3415-1750 Cap Plug 1 dimension(inches) dimension(inches)
B. 3025-1028 SHCS, #10-32 x 1.06 1 stroke < 90 stroke > 90
0915-1173 SHCS, 1/4-20 x 1.50 2 PAS10 131" 1.08"
C. 3410-1705 Pulley Housing 1 PAS1S 1.49 1.16"
eI Plley Houslng 1 4. Tighten Yoke and Verify Belt Tension
D. 3410-1718 Yoke, Tensioning 1 A.  Ifthe 2 socket head screws are not already started into the
3415-1736 Yoke, Tensioning 1 yoke, do so at this time.
E. 3410-1744 Belt, Mach., PAS10 1 B.  While viewing the tensioning yoke from the side, tighten each
} socket head screw slowly. Do this until you see the yoke move
3415-1744 Belt, Mach., PAS15 1 slightly. Repeat this for the other screw. The belt is now proper-
ly tensioned!

C. Tighten each jam nut (F) down against the yoke. This will keep
the screws from loosening over time. The belt is now properly
tensioned!

D. Move the carrier on the actuator back and forth. Verify that the

belt is tensioned, and is not cogging(skipping teeth). If it is cog-
ging, it is not tight enough, consult the factory at this time.

TOL-O-MATIC, INC.

3800 County Road 116, Hamel, MN 55340
http://www.Tolomatic.com « Email: Help@Tolomatic.com
Phone: (763) 478-8000 « Fax: (763) 478-8080 ¢ Toll Free: 1-800-328-2174

Information furnished is believed to be accurate
and reliable. However, Tol-O-Matic assumes no
responsibility for its use or for any errors that may
appear in this document. Tol-O-Matic reserves the
right to change the design or operation of the
equipment described herein and any associated

S
2 p— motion products without notice. Information in
% DN this document is subject to change without notice.

F(,EM\:NT Sys.
SF0°
o
)
£

7e,

<0
v
o~

B/

© 2004 TOL-O-MATIC, INC.



